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G PINd PN

(2a+4.5,3a+3,a)

Z PIN9 PN

(-1-7a,2+2a,a)

(0,0,0,0)

——

2X
4x
8x
3X

19

2X + Yy 3z =
3x - 2y 2z = (30
5x — 3y z = 16
2Xx — Yy z = 2
X + 4y 2z = 10 (31
X - 2y 2z = 10
X + 3y 2z = 0
2x — 3y z =0 (32
33X — 2y 2z = 0
X +y + z =1
-X -y + 2z = -1 (33
X + y + 4z =1
X + Yy 3
X + 2 5
Y (34
2X + Yy 4
2x + 3y 1
2x — 3y 5z 0
8x — by z 21 (35
2X + 4y 16z 21
2x + 3y 22 = 5
X - 2y 3z = 2 (36
4 - y 4z =
X + 2y + 3z 3
2x + 3y + 8z 4 (37
33X + 2y + 17z 1
+ 2y + 2z - w =0
+ 3y + 2z — 2w = 0
(38
+ 5y + 6z - 4w = 0
+ 3y + 4z - 2w = 0
)|
)



@ 1IN0 PR

8a 10a
__l_la
11 11

(19,20,1)

(0,.La-2,a)

(lt,Z—ﬂt,t]
3 3

(1-a-p,1-p,pa)
(1+¢,—13L0j
2 2

(1.2,3)

——

20

2(x—y)+3(x—2z)=x+2y-7

2x + 3y
X - 2y =
3X + 2y

I
g1 w

X+y+z—-w=1
2X+y—-2+2w=3
X+2y+4z-5w=1

X + 3y - 2z =

x — 8y + 8z
3X — 2y + 4z

3(5-x)+2(z+y)=0
Xx+5-y+2(z-1)=4

2X+3y—-z2+wW=5
X—y+2z-2w=-5
3X+y+2z-2w=-3
3X-y—-2z+2w=3

X+y+2=2
X+4y+52=8
2X—y—-2z=-2
2X+5y+6z2=10

2X, — X, + X, + 2%, =1
X+ X, +2%,+X, =2
3X, —2X, + X; +3X, =1

X—y—z-2w=4
2x—-2z+5w=1
—X-3y+z-10w=10

2X+y+z2=7
3X—2y+z2=2
Ax-2y—-72=-3
X+y+2=06

Xx+3y-2z=1
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(44

(45

(46

(47

et



X, =% =0
X, —X, =0

- =0
(a,0,a,0,a,0) s (48

X, +X, =X, =0
X+ X =0

—X, + %X, =0

2X+y+3z-w+t=2
X—-2y+z+3w—-t=1

(1L31) 3x+4y+5z-5w+3t=3 (49
X+3y+2z-4w+2t=1
5X—-5y+6z+8w—-2t=4

2X + X, +3%X; — X, + X =2

IX, —2X, + X, +3X, — X, =1

NN PN 3%, +4X, +5%X; —5%, +3x, =3 (50
X, +3X, + 2%, —4X, + 2%, =1

5X, —5X, +6X; +8X, —2x, =4
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